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Q1. Inthearrangement shown in figure when the switch S, is open, the galvanometer shows
no deflection for [ = L/2. When the switch S, is closed, the galvanometer shows no
deflection for [ = 5L/12. The internal resistance (r) of 6 V cell, and the emf E of the
other battery are respectively-
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(A) 30hm, 8V (B):2ohm, 12V
(C) 20hm; 24V, (D) 3ohm, 12V/

Q2. In the following figure, the-p.d. between the points M and N is balanced at 50 cms
length. The length in cms, balancing for the p.d. between points N and C will be —
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(A) 40 (B) 100
(C) 75 (D) 25
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Correct diagram for the determination of internal resistance of a primary cell by
potentiometer
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With two resistance R; and Rz (>Rz) in'the two gaps of a metre bridge/the balance
was found to be 1/3 m from the zero end."\When a 6 Q resistance is‘connected in series
with the smaller of the twoTesistance, the point is shifted to

2/3 m from the same end, then R1 and’ R> are -

(A) 20,4 Q (B)3Q,60
(©)40,8Q (D)4 0,20

Awire\connected in the left gap/of a metre bridge balances a 10ohm resistances in the
right’'gap.at a point which-divides the bridge wire in the ratio 3:2. Then the resistance
of the wire will be -

(A) 50hm (B) 100hm
(C) 150hm (D) 200hm

A potentiometer experiment is setup as shown in fig. If both the galvanometer shows
null deflections for the sliding contacts at x and y as shown then -
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(A)E, = E, (B)E, > E,
(C)E, <E, (D) none of the above
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A cell of emf (E) and internal resistance (r) is balanced across (I) length of
potentiometer wire. If another cell of emf 2E and internal resistance (2r) is connected
in parallel to the first cell , then the balancing length will be

(A) I3 (B)21/3
(C)41/3 (D) 21

In a potentiometer arrangement shown in fig. The balancing length for p.d. across xy
points is found to be 45.5cm. Then the balancing length for p.d. across (Y) and (2)
would be

= (o)
_‘ |E2 \"7
(A) 45.50 cm (C) 36.40 cm
(B) 56.87 cm (D) none of the above

A 6 volt battery.is-eonnected to-the terminals of a:three metre’long wire of uniform
thickness and resistance of 100 ohm. The difference-of potential between two points
on the-wire separated by'a distance of 50.cm will-be =

(A) 2 volt (B) 3 volt
(C).1 volt (D).1.5volt

In an experiment on measurements of emf of a cell by a potentiometer, the balancing
length-for.acell of emf E and internal resistance r is found to be I. Now if another cell
of emf'E'and internal resistance 2r is connected in parallel to the first cell and
balancing length determined, then the balancing length will be-

A B)21
(©) 21/3 (D)none

If galvanometer has 500 ohm resistance and R = 5000 ohm, then what should be the
resistance connected to galvanometer in parallel to it so that its deflection reduces to
half —
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(A) 544 ohm (B) 500 ohm
(C) 455 ohm (D) None
Q 12. A meter bridge with resistance Ry and R2 connected in two gaps is balanced at 0.4 m
from zero end. If smaller resistance is connected in series with 10 ohm resistance, the
balance point is shifted to 0.4 m from other end. The value of smaller resistance is -
(A)40 ohm (B) 60 ohm
(C) 20 ohm (D) 8 ohm
Q 13. If resistance of potentiometer wire = 15 r then calculate the balancetength | :
(A) 320 cm (B)'200-cm
(C) 400 cm (D) 100cm
Q 14. A 10.mlong wireof resistance 20 ohm-is connected_in series with a battery of emf 3V
(negligible internal resistance) and a resistance of 10 ohm. Find the potential gradiant
along the wire=
(A)3V/m (B)0.2V/m
(€)0.1V/m (D) 0.3 V/m
Q 15. Figure shows'the potentiometer arrangement to compare the emf of cells E; and Eo.

Length of the.resistance wire AB is 100 cm. If null point obtained for E; and E> are at

distance 20’cmand 40 cm respectively from B then E1/E; is —
E; Ky
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A)1:2 (B)4:5
(©)3:2 (D)4:3
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Answer Key
Ql b |Q2b Q3 ¢ |Q4 a |Q5 ¢
Q6 c Q.7 ¢ Q8 ¢ Q9 ¢ Q.10 a
Qi1 ¢ |Q12. d Q13 a |Q14 b |Q15 d
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